24 23 22 2 20 19 18 1" 16 15 " 13 12 1 " [} 1 5 4 3 2 !
KSA029 REV DESCRIPTION DATE ENG ECO # | APPR
| [CREATE DRAWING
2 |ADD/CORRECT HARDWARE & COMPONENTS 22SEPOS LR

ANCILLARY DRAWING

| [WASHERIOFLT203X62555 _ [90706056 | [WASHER, FLAT #10 203X 625X.056-011 §§
I |svale 30717022 | |TUBING, 3/8 SAE 30R7 FUEL/EMIS
I |sW333 30702154 ~ |STANDOFF 375 0D, 10-32 THD SLOTTED
6 | SCREWS-18PPW380B 90709142 SCREW,#8 PHIL PAN 3/8 B W/STAR WASHIR
4| SCREWS- 18PPB380B1 90709043 SCREW, #8 PHIL PAN 3/8 B TYPE SS B/0
3 |SCREWS-18PPB380BI. 30709128 ~ |SCREW, #8 PHIL PAN 3/8 B TYPE BZ
SCALE 0.500 || SCREWI0-32PP380SS 30709148 ~ [SCREW. 10-32 PHIL PAN 3/8 S
4| SCREWS-32PPW313B1 90709136 — [SCREW, 8-32 PHIL PAN 5/16 BZ W/STAR WSHR
3 |SCREW6-32PF0500S1 30711041 _ [SCREW, 6-32 PHIL FLAT 1/2 SI
3 |SCREW4-40PFU250P 30711044 I |SCREW, 4-40 PHIL FLAT UC 1/4 PATCH
I |RINGIOOOEXT 30701071 I [RETAINER, RING ZINC YELLOW (1.00 ID)
I |Ksh022 NA 2 |PAN TUBE ASSY. S-CMD
I |sY336 39430044 D |GEAR, PULLEY 48 TOOTH W/HOLE MACHINED EXT
I |sviss 39360016 A |[FLANGE, PULLEY, PAN/TILT
2 |SCREW0-32A5380 30701083 ~ |CUP, SETSCREW PT 10-32 X 3/8 ALLOY
I |sP46s 39260441 A__|[CAP BRG SUPRT 910PPG, DIECAST, MACHINED
I [sWi50 99260286 C__[BRACKET, PAN SUPPORT
I |sWiss 99260285 D |BRACKET, PAN BEARING MOUNT STUDIQ BEAM
I |SWAI36 80050049 _ [BOARD, ASSY MOTOR POWER SUPPLY SB TESTED
| |BELT2P_375W_68T00TH __ |99360006 — [BELT, TIMING 2P 3/8"W 67 TOOTH STC
I [9106PPG 30719007 | |BEARING, TECH 6006-2RSNR STC
I |SWAIT6 NA 3 |ASSY, LOWER BEARING, STUDIO BEAM
1TEM K0.| OTY. FILENANE PART NO. | REV DESCRIPTION
BILL OF MATERIALS
UNLESS OTHERWISE SPECIFIED R 2105 GRACY FARMS LANE
e o o0 B T T — o MRS e s s
0 PLACE DECINAL = £0.38 Tyr- = FAX (512) 8324128 LIGHTWAVE
b ELACE DECIAL T 08 g DRW. \vesemes bip://vem highend con RESEARCHe
ANGLES = +0.5° DESCRIPTION
FOR PAINTED PARTS REFER 70 [ASSY. PAN STRUCTURE S-CMD
ENG. SPLC. WANUAL WI-0592 [wrrcarn: TS
MIN. DRAFT CHARTED NA
PROPRIETARY NOTICE MIN. RADII INTERPRET DIMENSIONS PER S| e ORANING NO. REV
T e U AT RO T e T S 8 o e e 2 INA KSh029 >
INFORMATION THEREIN, WILL NOT COPY OR PERMIT COPYING THE DOCUMENT WILL NOT DISCLOSE TO OTHERS EITHER THE DOCUMENT OR THE INFORMATION THEREIN, AND WILL UPON COMPLETION DIMENSIONS ARE IN MILL IMETERS A1 - -
(3 THEAEEI) 10 RETAIN THESDOCUEENT, O0R UPOIZI)EMAID, RETURN TZH‘E DOCUMENT I\TNOUL RETAINING ANY O‘F!THE INFORNAT | ON ‘EEOITMNED THEREW‘LI ANY FORM NHATSOEVER VOLUME DO NKZT SCALE SsALE. 0.550 ; lSHEET. | OF |

1 H i &) 13 H i § i T ¥



